1B Pre HI. Exit Slip chapter 11 ¢ Name: /F ¢f
Calculators is allowed!! Show all vour work!

1. A triangle has the measurements shown. Determine how many tringles are possible and find ¢ and
the area of the triangle(s).
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9. In the diagram alongside X is the midpoint of FG, where AB= 10 cm, BC=6¢m, and CG= 5 cm. Find the
angle that AX makes with the bas(?

} B Y A'j::‘ A r\.\b s L \
o, 7 Eat

Ci’\(\-‘!\l i vé g;.,u_}‘\ ™ &LL’{% Ao g C ‘f’\ f

1
ut

it R —

AY = /J I 2 S /J Lo

i
/

‘EA/\"@’” Al w‘

oo (Sa 6 o
s , As ”, ~ # -

8. A tower stands vertically on a horizontal plane. The angles of elevation from two observes X and Y, 100
m apart,to the top of the tower are 45 degrees and 80 degrees respectively. X lies east of the tower and'Y Ties
south of X. I‘md the height of the tower correct to 8 significant figures. '
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